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INSTRUCTIONS TO CANDIDATES

. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
Ifany of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version CodeA, B, C,DorE, inthe appropriate

Space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet Version Code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part A contains 40 guestions of one
mark each and Part B contains 15 questions of 2 marks each. All questions must -
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions,

7. Immediately after the final bell indicating the closure of the examination, stop making

any further markings in the OMR Answer Sheet. Be seated till the OMR Answer

Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator you

may leave the examination hall.
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PART-A

Th S

Note: Answerall questions. Each question carries one mark. (1x40=40)
ARUR: Q9 WINVe wugon. B3 T3 2o 08,

1. Which one of the following is the growing social problem of modern India ?
a) Cybercrime
b) Cauvery river-water dispute
¢) Communalism and Religious Fundamentalism
d) Climate change
ISP eson PRTITE) Fertamh Wod030E manes ﬁmﬂﬁ e ?
a) AWO* RoT
b) S0 Sove amg
C) BRem0mt mone GRRFE Bwengimd
d) S0TR0e0 WEeRTR

2. Who has suggested six dimensions of Communalism ?

a) M. N. Srinivas b) T. K. Oommen
¢) Auguste Comte d) Albert Einstein
FReBENTE B0D) 55 efowamrf#aig{ ReRTS 03D 9
a) . D5, &edemoR b) & 3. e
DR U ﬁraeaﬁ:*; d) O E DT R
3. Communalism denotes between different communities and religious
groups.
a) Antagonism b) Harmony
c) Disharmony d) Friendship
EREDNTTHOTT DT FuoRoids s TRAFE MOOTHNG 5, e oS3
a) Iz, b) meebcy,
C) MTTRTLIZ d) Fex Rowors
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4. Regionalism is another form of

a) Universalism b) Globalization
c) Socialism d) Parochialism
72,0300080000 VWS VRREE CRTWINT
a) AW ETS b) wengessee
c) ARREWT d) ciedesteo
5. is a best example for inter-state Regionalism.
a) Narmada Bachao Andolan b) Save Ganga
c) Kargil War d) Belagavi Border Dispute
. [T YOFTTOY, 2,08 0BT LUZED LUTREHOFOIRNG.
a) TROFmD WIRPP BOTBRVT b) nome w9
C) BNFSF odoT, d) WS Ndwn
6. |.L.O. means
a) International Law Office b) International Labour Organisation
c) International Legal Organisation d) Indian Labour Organisation
I.L.O. owd
a) LT TITT U ST b) BouTTIRBICT Serso” esﬁraézéeaia‘

C) BT IR erie® Sataieray d) BORODT® Ser0* BNF R

7. Bonded Labour (Abolition) Act was passed in

a) 1826 b) 1947
c) 1976 d) 1956
2¢8 ad%é ( Dmdﬁ) F03) O WOTT).

a) 1826 b) 1947
c) 1976 d) 1956

SPACE FOR ROUGH WORK




AR 5- NS - 629

8.

10.

11.

After Legislature, Executive and Judiciary which one of the following is popularly
known as 4" important pillar of the Democracy ?

a) Education Sector b) Health Sector

¢c) Mass Media d) Tax Collection

ZaREaon, FoCIRFOn Tere T, cdRontiRoRr gmgm%w TYe STRUR oIS
ROBOEROR

a) 2¥m g b) edeer 3¢g
c) ARe® SRg > d) Sorizons
. Mass Media moulds
a) Public Opinion b) Court Judgements
c¢) Climate Change d) Foreign Policy
RRRT DR RD) ROWRIT.
a) RO HIT LemR,00 b) FR08Re0D SePFned
C) THTWTE WRRRH d) e Jed
An example of electronic media is
a) Magazine b) Television
c) Newspaper d) Journal
DT BRGOTI 1000 YUTRHBTFOIING.
a) SpI[eE b) &domm
c) O3B d) wmdre®
Tourism department describes India as
a) Good India b) Famous India
c¢) Incredible India d) Indiscriminate India
BIRRTE QTSI md@d&’i &ert Bedradd
a) row® QolcdR b) Fexox® doRIR
€) BT ERLCT QeRIR d) o @0SeEs” ol
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12. India has a population of
a) 1.5Billion b) 1.5 Million c) 1.24 Billion d) 1.24 Million
g#_.;dapada’dmh’oa%
a) 1.5 Sz8ness b) 1.5 @gey c) 1.24 cdeets d) 1.24 geg
13. As perthe 2011 census the percentage of Hindus in India is
a) 75.5% b) 90.5% c) 80.5% d) 70.5%
20118 %3Inc020d TF3 e wRRo 008 Lo RNY 8wt HRR
a) 75.5% b) 90.5% c) 80.5% d) 70.5%
14. The original name of Buddha
a) Mahaveera b) Siddhartha ¢) Shuddhodana d) Rahula
20T R BID
a) SoTaed b) xzwge c) a:ci%mda’ d) ;@
15. There are number of Theerthankaras.
a) 24 b) 48 c) 44 d) 34
ERERFBORRE wid), SemF 030 '
a) 24 b) 48 c) 44 d) 34
16. said ‘Human society has the cradle in the rural group’.
a) Socrates b) Bogardus
c) A.W. Green d) Karl Marx
R BR3P ERLL MTBOR * aoh cdnd B 2
a) ARgLs b) Weomwrar
C) . BUR . NEF* d) ®o'r Snee's
17. Dominance of primary relations exists in
a) Social organisation b) Association
¢) Urban community d) Rural community
T,PT HOWOTNE Eaplapiatc] oS, FOROWTBT,
a) Aae3s ogpess b) Aoz
C) INT BSNVTODL d) mecoess BB0T0H
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18.

Expanded form of MGNREGA

a) Mahatma Gandhi National Rural Employment Guarantee Scheme

b) Mahatma Gandhi National Regional Enhancement Guarantee Scheme

¢) Minority Group and Rural Employment Growth Scheme

d) Major Guaranteed New Rural Employment and Education Growth Scheme
MGNREGA o3 Q%38 SRR Red.

a) @IFZMOoR Rk (efolvioginlenaplevsiiaele iy o003 60

b) smegMmol) SIS Derder a* @Rt sdo’ T, Tots 380

C) SYPO0 MR B0 CROCF SOOI R0 A" A0

d) shewo’ m,Bokiea® 3R, TRO* QOTRET 008" 0T DLIFET” RRERT 40

19. Gender discrimination is made on the basis of
a) Religion b) Caste
¢) Socio-cultural aspect d) Race
e‘)or{@da’ai%a’ S0R Bt BRBSINLT.
a) GO b) w=»&
c) mmwé—moz%éé d) xmon
20. According to 2011, India Census the sex ratio is
a) 914/1000 males b) 949/1000 males
c) 846/1000 males d) 915/1000 males
20113 {030 wantes T OO
a) 914/1000 Row> b) 949/1000 riow>
c) 846/1000 riozd d) 915/1000 roc>
21. Familyisthebasic of Indian society.
a) Organisation b) Institution
c) Community d) Association
B6300035) LTTIECD RBRET SRV
a) Aot b) #o%
C) AROTIOL d) Ao
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22. The English word ‘Family’ is derived from the Latin word

a) Famulus b) Famulie ¢) Famulae d) Famili
Sl fRnrlave) EpTA ) aQﬁ ﬁwaﬁs&g‘ R, 5T o & Buhor Slevssi il doplyial
a) FBoOR b) smw0g) C) WY d) Ra0d
23. The primary function of a family is
a) Socialization b) Customs
c) Belief system d) Communalism
BOLDOLIC &0, BoCE
a) ARReITIed b) zozmecd
C) Jowdnsh d) geczmvams
24. The Nair joint family is known as
a) lllom b) Tarwad c) Nambudari  d) Gharo
TOCLT® Ly ﬁawowdﬁi &oert S8CDORNZTS
a) vYo b) sodmew® Cc) Sowesmo d) sodee
25. Main feature of joint family is
a) Two kitchens b) Divided property
c) Separate houses d) Undivided property
BB Bo00WT TR0 Sijelate
a) 20w L6 S8 b) ez ey
C) BT Soanh d) eid e
26. Which of the following is an example for practicing of Regionalism ?
a) Shiva Sena b) Congress Party
c) Green Peace Organisation d) Bharatiya Janata Party
FINTYnSY, @cx%emodr’wq P ORT YUTODBOR ClRe)Ed 7
a) dz33eI b) wooriz® &g
C) NeT° e RO d) 2708e0d maiz 355“\
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27.

28.

29.

30.

31.

Globalization means the economy of a country with the world

economy.
a) Integrating b) Disintegrating

c¢) Destroying d) Limiting

LRNSEFTLOTS ot e SRHFTI0R0 wnidri R sdodeoddint

a) DORRE b) 2OeSRRgHTE

C) B,oRnRRYRRT d) RoboEReeAYEd
Mono-culturalism is the practice of preserving

a) Single culture b) Multi-culture  ¢) Contra-culture d) Tissue-culture
0B mo-:;;}sié Q0T FFNT om@d;&g{ ROTEROT TN ?

a) Q8Rog@ b) w&>=ozd C) o BUs'  d) wae TUT
Who gave the concept of McDonaldization ?

a) Auguste Comte b) George Ritzer

c) Emile Durkheim d) M. N. Srinivas

SR T BRTS e ToBVFoD) VeRWHU 0T ?

a) una’ Epes b) eeeF Lo

c) 209 Bdero d) 8. 5. eReon

The Child Labour (Prohibition and Regulation) Act was passed in

a) 1986 b) 2001 c) 1976 d) 2015
w59 o (Raters @marie DCI0ZED) F903) WOT 22033

a) 1986 b) 2001 c) 1976 d) 2015
Oldest holy scripture of India is

a) Manu Smruthi b) Bhagavad Geetha

¢) Upanishath d) RigVeda

LII03E ©58,08 ¢S BN, 10

a) sy, @ b) e;frfnj@nea"

C) VORI d) adbri e
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32. Jainism started in
a) 6" Century BCE b) 5" Century BCE
c) 6t Century BC d) 4" Century BC
z%ﬁrﬁai)?"@ ol FSBRTEE, TTOITICNB ?
a) B3¢ 38xnRsBCE b) 5z¢Z8xnIBCE
c) 683835 BC d) 45cz2zn=BC

33. Sacred holy place of Christian is

a) Constantinopel b) Paris
c) Vatican city d) Venice
3 7 GRor T g08 BUZTW AV

a) TR oUNRT’ b) 5,05
c) ede® Ak d) &0=°

34. Kaleema indicates

a) Monotheism b) Polytheism

c) Five time prayer d) Fasting

3¢ TR B WG BN BRURIT

a) DBDeSDTLS b) WEITETITIGS

C) 5T W0 TPFS BREJT d) SUROR SRR

35. The place of worship in Sikh is known as

AR AR R

a) Basadi b) Vihara
¢) Gurudwara d) Mandira
220° Gdr T30 g AY
a) WA b) &@ed
¢) RV, 8 d) &belo
SPACE FOR ROUGH WORK .
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36. The arrangement of people in various positions is called
a) Division of people b) Social status
c) Social position d) Social stratification
AT o] m@dﬁ#@m WO IS RIRR TR, et sodeRnogs
a) wWIo AWK b) mw@rnelE ©o3R)
C) AORMBB TS d) mownzE RonmRA
37. The English word ‘caste’ is derived from word ‘casta’.
" e a) Spanish b) Latin c¢) Indian d) German
BONLIOHOD ‘TR, 'wdﬁsg HOD ‘TR 3wtaleln ©03), DRSNS,
a) b) e’ c) Fo8ecdd d) waora®
38. The caste group who were deprived of all societal rights are known as
a) Downtrodden b) Untouchables c¢) Poor d) Deprived
TRTRTT BRYTIC0T FoLSTR0RTU 10T LRIFTRT
a) 3503 b) wx 3 C) W@ER d) [ows2dd ‘
39. called the tribes of India as ‘Girijans’.
a) Jawaharlal Nehru b) Mahatma Gandhi
¢) Raja Rammohan Roy d) Ishwarchandra Vidyasagar
Ml O=T) LoTdecdd wa*%u.zd z:ﬁdsig_ ‘NOTTTY 000 FCTTD.
a) BBOREF JBTR b) 08 o
C) TR BB Tu0dT® d) 853,0°308, QmAeno®
40. The First Backward Class Commision of India was
a) Nagangowda Commission b) Havanur Commission
c) Kalelkar Commission d) B. P. Mandal Commission
LRUSH B kothed BnF s wodren
a) NI PR odren b) TTZeT® wodeen
C) BT Bodpen d) . & Dower eodnen
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PART -B
PIN—-W

Note: Answerall questions. Each question carries two marks. (2x15

Rt 2o BIre ugon. B3 FIR ot sodrish.

41. In 1993, women's representation in local bodies was fixed by Constitution at

a) 50 % b) 25% c) 35% d) 33%

199309, T30 oD Ageod RORNYS o w352 RSN wodgododmer

ébae:’:@éjﬁ‘?

a) 50% b) 25% c) 35% d) 33%
42. Main occupation in rural sector, is centered around

a) Fertilizers b) Agro-products c¢) Water d) Tractor

RUSE 1R800 BIETNTY 0020, TR0 AT FowoQAics

a) o*;drifa%d b) gaevgzss c) Qe d) & 80°
43. Which of these, is a prominent rural sports ?

a) Cricket b) Hockey c) Kabaddi d) Football

TTITI TR0060 TIeINYE) seddenchn decd

a) 38w b) @3 c) 3w d) Prwoer
44. Match the following :

A. BrahmaSamaja  i. Mahayana

B. Digambaras ii. Shaivism

C. Hinayana iii. Arya Samaja

D. Vaishnavism iv. Swethambaras
a) A—iii, B—i,C—iv,D—ii
c) A—iii, B—iv, C—i, D—ii

b) A —iii, B—iv, C —ii, D —i
d) A—iii, B—ii, C—i, D —iv

TROOR W3CWD

A. @%ﬁaﬁea i. SoFT0IRS
B. Orlowod ii. 33

C. &Leooins iii. &0 Fwe
D. fgjﬁwﬁ iv. %mowddo

a) A—iii, B—i, C—iv, D —ii
¢) A—iii, B—iv,C—i, D —ii

b) A—iii, B—iv, C —ii, D — |
d) A—iii, B—ii,C—i,D—iv
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45,

46.

0 0 0 ¥ NS - 629
Buddhism is divided into and
a) Strong and Faithful b) Vaishnavism and Shaivism
c¢) Boudhi and Bodhi d) Hinayana and Mahayana
== Ton@ngon ?jacé) e R DErinoR.
a) m\i =08 Fowd b) %&;ﬁ 3 3
c) PR @ B¥eed d) SCIVOIRT W) ROTICINT
Christianity is divided into and
a) Upper and Lower b) Catholic and Protestants
c) Realand Anti d) Allthe above
=) Tona@nwen ﬁd;j Gaor ) VYERNRORE.
a) @oeefRT B3y FFFT b) W FEeedT RO TR, LIROLT
C) TFNT WL W3, d) Qe7p

47.

49,

The 2001 National Census of India estimated the total number of Child Labour to be at
a) 2.6 Million b) 5.6 Million c) 10.6 Million  d) 12.6 Million

20010 T e03 Eadold TE0 LRUBEY, 1 TIFT ajc%%ﬁ 2OIRATD el B
Road, e90toE

a) 2.6 wgvg, b) 5.6 @WILg, c) 10.6@geg d) 12.6 WIE,
Act prohibits the employment of children below the age of 14 years.

a) The Mines Act 1952 b) Child Labour Act 1986

c) The Plantation Labour Act 1951 d) The Indian Factories Act 1948
52000 14 oA 2N ST e0ESR, entde), AUPTRNROP WY DFQRZT,

a) 19520 e so0l0dd b) 08¢ @ Tactow 1986

c) 1951d3retddd so0r 30 50005 d) ¢RUSE msver SNy el 1948

Reason for the Bonded Labouris

a) Poverty and llliteracy b) Globalization

c¢) Urbanization d) Privatization

2T THE Wo0s, FTLFOWS

a) WESS 03 S b) =onae8cn

c) Sndesces d) 2ominesdes
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50. Match the following :

A. Anand Keraj i. Muslims

B. Panigrahana ii. Buddhism

C. Nikah iii. Sikhs

D. DalaiLama iv. Hindus

a) A—iv,B—i, C—iii, D—ii b)A~iv,B—ii,C—'|,D—iii
¢c) A—iv, B—iii, C—i, D —ii d) A—iii, B—iv,C—i,D—ii
FRoD wdoldd:

A. =S50 oot i A0

B. soedni@ee ii. zjaz%

C. 2 iii. ?q&:’w

D. TR, G iv. doome

a) A—iv,B—i, C—iii, D —ii b)A-—iv,B—ii,C—i,Dgiii
c)A—iv,B—ili,C—i,D-ii d]A—«iii,B—iv,Cri,D—ii

51. Consider the following statements :
i, Tigers are found in Karnataka, West Bengal, Uttarakand.
ii. Sheeps are reared for bone.
iii. Our national animal is tiger.
iv. India is largest producer of milk.

Choose the correct statement

a) i, i and iii only b) i, iii and iv only
c) iand iv only d) ii only
81 FINT BewBRY RVA0:

i. SoF s, B uom@i Sechiiciopkbiee ooz Y BOONW FORILTIZES.
i, @aREmN %Jfaﬁfdz’)i ABRNOZT.
iii. @O0 [ BeIT Togy o WS,
iv. 08y e B T STV RPWS ses.

0 eugd e0dy =R
a) i, ii;‘b&iii b) i, iii &= iv
c) i s08y iv d) i =»g
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52. As per the Indian Constitution, the total reservation quota should be within the
percentage limit of

a) 30% b) 40 %
c) 60% d) 50 %
RUZ RONTRTE TFoT, LRTZHE QAR T B $9NS ©,388 Q0etinTnd
| a) 30% b) 40 %
c) 60% d) 50 %
L 7p 53. InKarnataka, Marathi speaking people are refer to as Linguistic
a) Majority b) Minority
c) Equality d) Intellectuals
BF LERE), 00 mﬁ#tﬁ?ﬁq@am 2003 8Ic0BT,
a) WERIYID b) eseRamch
c) ATRTS d) m%zaeam#o
54. __is one of the important factors for the globalisation.
a) Green Revolution b) Il World War

c) Spread of Information Technology d) Rise of Terrorism
| WANSEFTLTI TR0 FoTeS 0TS

" - a) B F08 b) &,3e0 SBT3,

c) @nkd ZoBmR FE VaRd d) Podrezarsod sonad
55. McDonaldization is affected negatively on Indian system.

a) Press and Media b) Dress style
c) Food system d) Marriage system
SRFERTOFOD HFIZEmN (RTUSE B3 FTI0W Hoed) Zoss weots
a) w33 ey Ingad b) =%, SR
@) Eﬁ@da'a;a d) om® dd@_%
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